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18. (10 43)(1)Fe. C~ O(24) Fe(CO)s (2 41)

(2) FeC+10HNO3=Fe(NO3)s+CO;z t +7NO;2 t +5H,0 (2 47)

(3) HaFe(CO)4+20H= Fe(CO)2+2H:0 (2 43) _

HEADR GERSHETRE A, B, £ AREPREIRERE, 5%, WEH: 4B REF RN
KSCN EWRMR, BNk (k) RREmae, W Fe?'(2 71)

19.(10 43) (1) CHa(g)+C02(g) = CH;COOH(l) AH=—13.58kJ/mol (2 4})

(2) ZF (2 Cu/y-ALLO;, (1 43)

(3) © BDE{1 77) @15(1 47)  3.96(1 43) 35.12x104kPa)? (1 43)
@ >(1 ) MHEEA R, PYERREMR N TFERAEMA, PN IR RN MBS, ArRE R
REAR BN (1 53)

20. (10 (DS REBRGE (14) BEEFEH 4 7)

(2) Fe(OH)3+ AI(OH)s (1 43) 47~62 (14r) (3)L6X10° (247)

(4) ARG — IR, Wl HE R AN KA e WARRE 77)  18.92 (2 77)
(5) 2Ni2+CIO +40H ™ =2NiOOH+CIl +H,0 (1 %)
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